SIZ
A4

E |DRAWING
NUMBER

023-82180 [&] 2

[——— o

M8 x 20 Cap Head

DO NOT SCALE

—g THIRD ANGLE PROJECTION

IF IN DOUBT ASK

294-35640

Note: Standard Newall tolerances apply - max travel of 275mm for single end mounting.

E:l—oﬂ-h_!

SN

M4 x 20 Screw

M2G/MHG Encoder

[——
@ N—
M5 x16 CSK
and Button Head Screws N\ [B

3 Types of wedge body
to suit variouse machines

B(1:2)

°Q

O

\
— L

M3 x 16 Screw and
Spring Washer

L

Mounting Pillars
-Choose combination

to suit machine

A(1:2)

B \
294-34240

294-39380
TITLE MATERIAL/FINISH SCALE [UNLESS OTHERWISE TOLERANCES: - 0 DECIMAL PLACES £0.5
Metric Quill Kit STATED: - 1 DECIMAL PLACES 0.2
Installa?ion Drawing N/A NTS 2 DECIMAL PLACES £0.1
S — SEET DIMENSIONS ARE IN MM ANGULAR #1
2 | W02 | E0de | P CLIPS ETC. REMOVED CWH DRAWN [chris.wh NENALL VEASUREVENT SISTENS LT, DRAWING REV.
155 [DATE [CMo |ALTERATION oATE 0770572015 Leicester NEVVALL (o] st | ora s |023-82180 5| 2




SAEE DNRJ\PX\QENRG 023-82180 ?SESV ) DO NOT SCALE —F— THIRD ANGLE PROJECTION IF IN DOUBT ASK
' Kit Contents
NEWA' Quill Kit - Metric
Part No: 600-65480
To mount 1 Microsyn or Microsyn-LT Scale <275mm Travel on the z axis (quill)
294-34240
Scale Link (1) 294-39380
505-00030 End Support (1) M4 x 10 Cap Head Screw (4)
Fixing Clamp (1)\ M5 x 16 Button Head Screw (1)
O
05-00010 j i M8 x 20 Cap Head Screw (1)
Fixing Wedge (1) © (@)@ 294-34230
Short Pillar (1)
294-35660 [ 294-34200
Microsyn Mounting Plate (1) Long Pillar (1)
l ; M5 Plain Washer (1
Wedge Body 3 Sizes (1) O O ! ")
©14.3/14.4 -295-00020 M3 x 12 Hex Head Screws (2)
®14.9/15.0 -295-00022 g
©15.5/15.6 -295-00024 M3 x 12 Cap Head Screw (2)
— (o) M3 x 16 Cap Head Screw (1)
294-35610 u
Spacer Washer (2) M5 x 15 C/SK Screw (1)
é M4 x 20 Cap Head S 2
g @ p Head Screw (2)
@ M4 x 25 Cap Head Screws (2)
/ M6 x 10 Button Head Screw (2)
M3 Spring Washer
TITLE 600-65480 Kit Contents MATERIAL/FINISH SCALE [UNLESS OTHERWISE TOLERANCES: - 0 DECIMAL PLACES £0.5
DUVTOITFOU RIL GCOIILETILS STATED: - 1 DECIMAL PLACES 10.2
and Installation Instructions N/A N/A 2 DECIMAL PLACES 0.1
2 | WL |04 | P CLIPS ETC. REMOVED CWH O MENSIONS ARE I M ANCULAR L
1| 27/1/16 [ ECNO543 | CHANGES TO PT NUMBERS AND WEDGE DESIGN ~ CIH DRAWN |chris.wh L A S, SHEET | DRAWING REV.
REVJSS. |DATE [CANo |ALTERATION DATE |07/05/2015| L eicester NEWALL England| MmO 0 000 2 OF 2 | NUMBER 023'82 180 ISS. 2




